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SECTIONA-(5X2=10)

Answer All the Questions:

1 2 3 3 -1 3
1. IfA::l( | and B= then find 24-B.
2 3 1) -1 2
2. Write the subset of 4 ={0,1,2}.
3. If A={a,b} and B={1.2.3} find 4xB and BxB.
4. Define Directed Graph.
5. Construct the truth table for A= B.

SECTIONB-(5X4=20)

Answer All the Questions:

[(l 0 2 (l -2 3
6. a)lf A=|0 1 2|and B=| 2 3 -1/ then find whether both AB and BA are )
Ll 2 0 |\—-3 i 2)
equal.
(OR)

I 2 3

byif 4=|0 5 | then find EA|
2 7 8

AN

7. a) State which of the following sets are finite and which are infinite.
i) Az{x:er and x2—5x+6=0}
i) B={x:xeZ and x>-10}.
' (OR)
b)If A={a{b}},find P(4).
8. a) i) Define Cartesian product.
iiyIf 4={2.3}, B={1,2,3}, C={1,3,5} find AxBxC.

(OR)
b) Find the Indegree and outdegree for each Vertex and also find the relation.

(2)
O
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9. a) Write an Adjacency Matrix to represent the following graph.

a b

- (OR)
b) Define: Isomorphism and also give the example for Isomorphism.

C

10. 2) Construct the truth table for the following {((4)v B)=>C).

(OR)
b) Write any two Laws of logic with truth table.

SECTIONC-(3X15=45)

Answer any THREE Questions:

8 -1 -3
11. Find the Inverseof A=|-5 1 2 i
10 -1 -4)

12. To prove the following.
i) AU(BNC)=(4UB)n(4uC)
i) AnN(BUC)=(4nB)u(4nC)
jiiiy De — Morgan’s Law
13.Let 4={1,2,3,4}
Let R={(11).(1.2),(2,3).(2,4),(3.4).(4.1),(4,2)} and
8 ={(3,1),(4.4).(2.3).(2.4).(1,1),(1,4)} be two relations on A.
i) Is(L3)eRoR?
i)  Is{4.3)eScR?
iii) Is (L1)eRoS?

1v) Compute: SoR
RoS

RoR

SoS§
14. Prove that, A nontrival simple graph has at least two vertices which are not cut vertices.

15. Using Implication Law 1) (P — Q)A( 1PV Q)
i) (P A QA R)) V(P> Q).
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